
 

    . 

   . 

   . 

   . 

 

 

r ϵ [1,2] 

𝑟1  

𝑟2  

𝑟3  

𝑟𝑁 

 

𝛼1×𝑛  

𝜔1×𝑛 

𝛽1×𝑛 

𝛼𝑛×1 
𝑇  

 

𝜔𝑟 + 𝛽 

𝒅𝒘

𝒅𝒓
+ 𝝓𝑾𝒆

𝟐(𝟏 − 𝒂𝟐) (
𝒅𝒘

𝒅𝒓
)

𝟑

−
𝑺𝒕

𝟐
𝑾𝒆

𝟐(𝟏 − 𝒂𝟐) ((𝟏 + 𝜹)𝟐
𝟏

𝒓
− 𝒓) (

𝒅𝒘

𝒅𝒓
)

𝟐

+
𝑺𝒕

𝟐
((𝟏 + 𝜹)𝟐

𝟏

𝒓
− 𝒓) = 𝟎 

 

 

 

  𝐿 = ∑ 𝐿𝑛(𝑟)11
𝑛=0  

+ 

 

× 

 

𝐿′(𝜔𝑟 + 𝛽)𝛼 
𝑇 

 

( ) 
2 

 

𝑤′(𝑟) 

+ 

 

× 

 

= 0 

( ) 
−1 

 

(1 − 𝛿) 
2 

 

(𝑊𝑒  ) 
2 

 

(1 − 𝑎) 
2 

 

( ) 
3 

 

× 

 

× 

 

𝜙 

 

 

−𝑆𝑡

2
 

 

 

+ 

 

(1 − 𝛿) 
2

𝑟
 

 

−1 

 

× 

 

(1 − 𝛿) 
2

𝑟
− 𝑟 

 −
𝑆𝑡

2
(

(1 − 𝛿) 
2

𝑟
− 𝑟) 

 

× 

 

(𝑊𝑒  ) 
2(1 − 𝑎) 

2 

 

 

𝜙(𝑊𝑒  ) 
2(1 − 𝑎) 

2 

 

 

(𝑤′(𝑟))
2

 

(𝑤′(𝑟))
3

 

𝑟 

 

Hidden Layer Input Outer Layer 


